3 Jaw Self Centering Chuck

2 Set of Solid Jaw. Plain Back

THREAD- ‘ ds d2di D
=
S
<« L1 —»
SPECIFICATIONS - L— Unit:mm
VSC-3A 80mm(3") 66 55 16 66 50 3.5 3-M6 2 5002-020A
VSC-4A 100mm(4”) 84 72 22 74.5 55 8.5 3-M8 8.3 5002-021A
VSC-5A 130mm(5”) 115 100 33 78 55 3.5 3-M8 5.8 5002-022A
VSC-6A 160mm(6”) 145 130 40 95 65 5 3-M8 9 5002-023A
VSC-7A 190mm(77/2") 172 155 55 105 75 5 3-M10 151 5002-024A
VSC-8A 200mm(8") 180 165 70 109 75 5 3-M10 15.6 5002-025A
VSC-9A 240mm(9'/2") 215 195 70 122.5 80 10 3-M12 26 5002-026A
VSC-10A 250mm(10”) 225 206 80 120 80 5 3-M12 26.5 5002-027A
VSC-12A 315mm(12”) 285 260 100 147.5 90 6 3-M16 47 5002-028A
VSC-16A 400mm(16”) 368 340 130 173.5 100 6 3-M16 73 5002-029A
VSC-20A 500mm(20”) 465 440 210 202 115 6 6-M16 121 5002-030A
VSC-25A 630mm(25”) 586 545 252 220.5 135 7 6-M16 200 5002-031A

3 Jaw Powerful Self Centering Chuck

Reversible Top Jaws. Plain Back

<3 ==
3 JAW SELF CENTERING CHUCK REVERSIBLE TOP JAWS. PLAIN BACK JL:

SPECIFICATIONS Unit:mm
VSK-6A 160mm(6”) 142 130 45 95 71 3-M8 8.3 5002-040A
VSK-7A 190mm(7/2") 172 155 55 105 75 3-M10 10 5002-041A
VSK-8A 200mm(8”) 180 165 65 109 78 3-M12 16 5002-042A
VSK-10A 250mm(10”) 226 206 80 120 84 3-M12 21.7 5002-043A
VSK-12A | 315mm(12") 285 260 100 156.5 90 3-M16 41 5002-043B
VSK-13A | 325mm(13”) 296 272 100 154.5 102.5 3-M16 45.8 5002-044A
VSK-15A | 380mm(15”) 350 325 130 156.5 104.5 3-M16 64.7 5002-045A
VSK-16A | 400mm(16") 368 340 130 181.5 129.5 3-M16 75:5 5002-046A

LATHE MACHINE ACCESSORIES l



4 Jaw Self Centering Chucks

l:

D| d2| d1|d3| —
g
SPECIFICATIONS Unit:mm
VPS-6A 165 130 145 45 94 65 5 3-M8 9.3 5002-050
VPS-7A 190 155 172 55 105 75 5 3-M10 13.8 5002-051
VPS-8A 200 165 180 65 109 75 5 3-M10 16.6 5002-052
VPS-10A 250 206 226 80 120 80 5 3-M12 28 5002-053
VPS-12A 315 260 285 100 147.5 90 6 3-M16 54 5002-054

23 B.Y4 Jaw Self Centering Chucks (2-Pices Jaw)

L1

|

D| d2| d1|d

@

N

SPECIFICATIONS Unit:mm
VPS-6AK 165 130 145 45 109 65 5 3-M8 9.5 5002-055
VPS-8AK 200 165 180 65 122 75 5 3-M10 14.8 5002-057
VPS-10AK 250 206 226 80 136 80 5 3-M12 24.7 5002-058
VPS-12AK 315 260 285 100 156.5 90 6 3-M16 45.7 5002-059

. LATHE MACHINE ACCESSORIES



DIN-Type 3-Jaw Self-Centering Chucks &\

SPECIFICATIONS

DIN 6350 Standard

L1 =
h
1
29
D|d2|d1d3 A
migl
= ad|
THREAD He

It have front mounting type as well.

Unit:mm

VSC-3D 80 56 67 16 66.5 50 4 3-M6 4000 1.9 5002-215
VSC-4D 100 70 83 22 74.5 55 3 3-M8 3500 3.3 5002-216
VSC-5D 125 95 108 30 84.5 58 4 3-M8 3000 5.2 5002-217
VSC-6D 160 125 140 45 94 65 5 6-M10 2500 9.1 5002-218
VSC-8D 200 160 176 65 109 75 5 6-M10 2500 16 5002-219
VSC-10D 250 200 224 80 120 80 5 6-M12 1600 27.5 5002-219A

4-Jaw Independent Chuck Plain Back

DU
THREAD
L1 A‘
= H
B/
\ , .
D d2d1
| §
SPEC|F|CAT|ONS Unit:mm
VKC-4 100mm(4”) 72 84 25 74 54 45 4-M8 4 5002-220
VKC-5 125mm(5”) 95 108 30 78 56 ' 5.1 5002-221
VKC-6 160mm(6"”) 65 95 45 93 65 5 4-M10 8.3 5002-222
VKC-8 200mm(8”) 75 56 107 75 15.9 5002-223
VKC-10 250mm(10”) 110 130 65 120 80 6 4-M12 21.8 5002-224
VKC-12B 320mm(12”) 140 165 95 134 90 43.8 5002-226
VKC-14 350mm(14”) 130 168 4-M16 53.6 5002-227
VKC-16 400mm(16”) 160 185 125 143 95 8 65 5002-228
VKC-20 500mm(21”) 200 236 160 161 106 4-M20 105 5002-229
VKC-25 630mm(25”) 220 258 180 180 118 10 175 5002-230
VKC-32 800mm(32”) 250 300 210 202 132 12 8-M20 300 5002-231

LATHE MACHINE ACCESSORIES l




3-Jaw Scroll Chuck

N \a
Interchangable u’ullzatlorl,@f mte\gnal
and external hard jaws. b
VSC types feature economical and
durable,suitable for mass //L{\: AN
production. '
Gripping accuracy of 0.03mm
(0.012inch)T.I.R..

The body is made of MEEHANITE.
It is suitably used for high speed
revolution and 3 times more
durable than regular chucks.

SPECIFICATIONS Unit:mm

@2- | @24- | 5002

VSC-3 |85 466073 |16 4 |3-M6|36| 11 15/ 7 | 3.0 900 - | 19 | 2500 | 22 | 924~ | 50K
VSC-4 |12 59 | 80|95 24 4.5 3-M8 |42 | 14 [18|8| 45 1200 | - | 39 | 2500 | 53 | 932 5002
VSC-5 132 60 |100{115 32 4.5 3-M8 |50 | 16 (20| 8 | 6.5 1500 | 0.01 | 39 | 2500 | 23, | 235 | 9502
VSC-6  |165 67 13014745 | 5 |3-M10 63 | 19 |27|10| 9.0 | 3300 | 0.03 | 96 | 2000 | 2% | 248 | 5002

@d4- | @56- | 5002
VSC-7 192|76.5/155/172| 58 | 5 |3-M10| 77 |21.5/28 | 11 11.0 3600 0.06 14.2 | 2000 @180 | @170 | -005

@d4- | @56- | 5002
VSC-8 200/76.5/160|176| 58 | 5 |3-M10| 77 |21.5/38 | 11 11.0 3600 0.07 15.2 | 2000 @180 | @170 | -006

@5- | @62- | 5002
VSC-9 232| 84 |1901210| 70 | 6 [3-M12| 87 | 24 |33|12| 15.0 3900 0.15 22.8 | 2000 | 550 | @210 | -007

@g6- | @70- | 5002
VSC-10 |273| 87 (230250 87 8.5/3-M12| 98 | 28 |37 12| 19.5 4800 0.25 30.8 | 1800 @260 | @250 | -008

@10- | @86- | 5002
VSC-12 310 96 (260|285/105| 7 {3-M12|110| 30 |44|14| 21.0 5700 0.58 44.6 | 1800 @300 | @290 | -009

@14- | @100- | 5002
VSC-16 405|122 |345|375/145/8.5|6-M14|146| 42 |56|15| 23.0 4500 1.75 102 | 1500 @400 | @380 | -010

B\ 3-Jaw Powerful Scroll Chuck

VSK types chucks have wider
unilization range; hard jaws suitable
for heavy cutting; soft jaws suitable
for light and precision cutting.

Hard jaws could be used as internal
jaws and external jaws.

Gripping accuracy of 0.03mm
(0.012inch) T.I.R.

The body is made of MEEHANITE.
It is suitably used for high speed
revolution and 3 times more
durable than regular chucks.

SPECIF'CAT'ONS Unit:mm

VSK-6 165| 67 |130/147| 45

3-M10| 72126139 |10, 9.0 3300 0.03 9.5 2000 @160 | @150 | -030

@8- | @62- | 5002
3-M10| 82 (28|43 |11| 11.0 3600 0.06 13.8 | 2000 | o480 | @170 | -031

@8- | @62- | 5002
3-M10| 82 |28| 43 |11 11.0 3600 0.07 14.7 | 2000 @180 | @170 | -032

@11- | @70- | 5002
3-M12| 96 132|150 |12 15.0 3900 0.16 22.1 | 2000 @220 | @210 | -033

@12- | @80- | 5002
VSK-10 |273| 87 |230|250 87 |8.5/3-M12/100|35|50 |12] 19.5 4800 0.26 29.5 | 1800 @260 | @250 | -034

@15- | @90- | 5002
VSK-12 [310) 96 [260|285/105| 7 |3-M12|114|40| 56 |14| 21.0 5700 0.58 41.8 | 1800 | »a00 | @290 | -035

@30- | ©@110- | 5002
VSK-16  |405| 122 |345|375/145/8.5/6-M14|150/50| 75 |15 23.0 4500 1.72 98 1500 | &470 | @380 | -037

. LATHE MACHINE ACCESSORIES

VSK-7 192|76.5(155|172| 58

VSK-8 200(76.5|160/176| 58

|| g ;g

VSK-9 232| 84 190|210/ 70




Machining Jaw Chuck

Works are gripped firmly by the formed ‘
jaws. ensuring high precision. (Deviation: /=
- Yo within 0.03mm) '

13 * Use forming rings (jaw locks) to form the

‘ soft-jaws.
Large workpieces can be held tight with the
low profile vise body.
Able to grip square works by using this chuck
as a two-way jaw unit
* The fixed jaw(optional)is necessary.
Longitudinal works can alse begripped by
using the bore of this chuck.
A dust cover is provided and this keeps the
shavings from entering the machine.
The handle is set on the face and does not
interfere with the table. A number of chucks
can be used together.

T
5

HANDLE

N
SPECIFICATIONS Unit:mm
VMJ-6 [165/215|144| 18 | 50 | 26 |130| 40 | 18 | 57 | 96 | 39 | 4-M10 J4-0128 B55-7128 13.5 5002-240
VMJ-8 [200250/174| 18 | 50 | 28 |160| 55 | 20 | 65 [108| 43 | 4-M12 J5-0162 J62-2162 21.5 5002-241
VMJ-10 [250/310|218| 18 | 60 | 32 |200| 70 | 22 | 72 |122| 50 | 4-M14 36-3200 ad72-3200 36.1 5002-242
VMJ-12 [310/380|274| 22 | 70 | 40 |260|100| 25 | 85 |141| 56 | 4-M16 J10-0265 @90-7265 61.7 5002-243
Super Thin Chucks
The angle between “"HANDLE” AND “BASE OF CHUCK"
is 30° degree, There Fore, it is much more convenient for
“HANDLE" rotation.
This “POWER SUPER THIN” design of chuck may increase
the “allowable length” of machinig operation.
The flanged type design make it easily for loading and
unloading operation.
“POWERFUL TYPE" design, may be used with hard jaws or
soft jaws alternatively.
O
A2 L—K_' Elc DAt
B1 LEZ.
SPECIF'CAT'ONS Unit:mm

VNBK-6 | 220|170 | 58 | 18 | 130 | 147 | 45
VNBK-8 |270|210| 65 | 20 | 155|172 | 60
VNBK-10 | 315|255 | 73 | 20 | 190 | 210 | 80
VNBK-12 | 370 | 305 | 80 | 22 | 250 | 285 | 105

3-M10| 68 | 26 | 40 | 10 | 13 | 124 @8-160 | @48-150 | 5002-070
3-M10| 85 |28 | 45| 11 | 13 | 20.2 | @11-200 | @62-190 | 5002-071
3-M12| 93 | 32|52 |12 |16 | 29.5 | @12-250 | @72-240 | 5002-072
3-M12| 117 | 40 | 59 | 14 | 18 | 46.7 | @15-300 | ©@86-290 | 5002-073

LATHE MACHINE ACCESSORIES l

[©NNe>RNe>NNe)]




Soft Jaw For SK-Type Chuck

1.Soft jaw for SK-type chuck. 2.Manufactured in specilfication

|
'
1

S INE | °

‘ Hirergy s fa— - :ﬁ_}:

C-7, ' -10) | &,‘ __L_L

3 PCS/SET | C4_ 1G5 o C-11
Unit:mm
VSJ-6 75 | 26 | 38 | 381 | 18 | 14 | 85 | 27 | M8 | 1268|794 | 3 | 35 1.3 |5002-300
VSJ-7 95 | 31 | 48 |4445| 25 | 17 | 11 35 | M10 (1268 | 794 | 3 | 35 3.4 |5002-301
VSJ-8 95 31 48 | 4445 25 17 1 35 M10 | 12.68 | 7.94 3 3.5 2.7 5002-302
VSJ-9 110 | 37 | 50 |5398| 28 | 19 | 13 | 36 | M12 [19.03| 127 | 3 | 35 3.7 |5002-303
VSJ-10 | 110 | 37 | 50 |5398| 28 | 19 | 13 | 36 | M12 |[19.03| 127 | 3 | 35 3.7 |5002-304
VSJ12 | 125 | 40 | 54 | 635 | 32 | 19 | 13 | 405 | M12 [ 19.03| 127 | 3 | 35 5.3 |5002-305
VSJ-16 | 160 | 50 | 70 | 762 | 42 | 25 | 17 | 48 | M16 |19.03| 127 | 6 | 55 10.6  |5002-306

THE SPECIAL OF HEIGHT (C-3) FOR
J VSJ-TYPE IS AVAILABLE

. LATHE MACHINE ACCESSORIES

VSJ-6-5 VSJ-6 50H 5002-3005 VSJ-9-10 VSJ-9 100H 5002-30310
VSJ-6-6 VSJ-6 60H 5002-3006 VSJ-10-5 VSJ-10 50H 5002-3045
VSJ-6-7 VSJ-6 70H 5002-3007 VSJ-10-6 VSJ-10 60H 5002-3046
VSJ-6-8 VSJ-6 80H 5002-3008 VSJ-10-7 VSJ-10 70H 5002-3047
VSJ-8-5 Vet 50H 5002-3025 VSJ-10-8 VSJ-10 80H 5002-3048
VSJ-8-6 i 60H 5002-3026 VSJ-10-9 VSJ-10 90H 5002-3049
VSJ-8-7 vt 70H 5002-3027 VSJ-10-10 | VSJ-10 100H 5002-30410
VSJ-8-8 Ve 80H 5002-3028 VSJ-12-6 VSJ-12 60H 5002-3056
VSJ-9-5 VSJ-9 50H 5002-3035 VSJ-12-7 VSJ-12 70H 5002-3057
VSJ-9-6 VSJ-9 60H 5002-3036 VSJ-12-8 VSJ-12 80H 5002-3058
VSJ-9-7 VSJ-9 70H 5002-3037 VSJ-12-9 VSJ-12 90H 5002-3059
VSJ-9-8 VSJ-9 80H 5002-3038 VSJ12-10 | VSJ-12 100H 5002-30510
VSJ-9-9 VSJ-9 90H 5002-3039



Soft Jaw Hydraulic Power Chucks

Soft jaw for CNC lathe.
D) \:T PT H
STANDARD YY)
3 PCS/SET . %
: } c6,_C7 c8 -—-l = w
- = J il —I:‘,— (800N
S iy ‘ I g sl_.lom
P ”!””Wmnuml iy o L;
| [’ - c-10 - -4
T S\ e,
*, »
ALUMINIUM MATERIAL: ALUMINIUM
ORDER NO. SIZE CODE NO.
VHC-8A SAME VHC-8 5002-250
<« VHC-10A SAME VHC-10 5002-251
MATERIAL: STEEL Unit:mm
Dim :
Weight | CODE
- C1 | C2 | C3 | C4 C5 | C6| C7 C8 | Co C10 C11 | c12 ca3) oot 0P
VHC-05 | 62 | 25 | 30 | 10 | 5 | 9 | 14 | 39 135 9 | 21 M8 | 5 | 09 |5002-330
VHC-06 | 73 | 31 | 36 | 12 | 5 | 15 | 20 | 38 | 17 | 11 | 23 | M0 | 14 | 16 |5002-331
VHC-08 | 95 | 35 | 37 | 14 | 5 | 24 | 25 | 46 | 19 | 13 | 22 M2 | 16 | 24 |5002-332
VHC-10 | 110 | 40 | 42 | 16 | 5 | 30 | 30 | 50 | 19 | 13 | 27 | M12| 18 | 37 |5002-333
VHC-12 | 130 | 50 | 50 | 21 | 5 | 30 30 | 61 | 25 | 17 | 30 | M16 | 23 | 6.4 |5002-334
VHC-15 | 165 | 62 | 62 | 22 | 8 | 37 | 43 | 8 | 32 | 21 | 38 | M20 | - | 127 |5002-335
VHC-1241| 130 | 50 | 50 | 18 | 5 | 39 | 30 | &1 | 23 | 15 | 30 | M14 | 23 | 625 |5002-336
VHC-15-1| 165 | 62 | 62 | 255 | 5 | 37 | 43 | 8 | 32 | 21 | 38  M20 | - 75 |5002-337
THE SPECIAL OF HEIGHT (C-3) FOR
VHC-TYPE IS AVAILABLE
ORDERNO. |  MODEL HEIGHT | CODE NO. ORDERNO. |  MODEL HEIGHT | CODE NO.
VHC-05-5 | VHC-05 50H 5002-3305 VHC-10-9 VHC-10 90H 5002-3339
VHC-05-6 | VHC-05 60H 5002-3306 VHC-10-10 VHC-10 100H 5002-33310
VHC-05-7 |  VHC-05 70H 5002-3307 VHC-12-6A | YHTA2 60H 5002-3366
VHC-05-8 | VHC-05 80H 5002-3308 VHC-12.7A | VG2 70H 5002-3367
VHC-06-5 | VHC-06 50H 5002-3315 VHC-12-8A | Y32 80H 5002-3368
VHC-06-6 VHC-06 60H 5002-3316 VHC-120A | YHTA2 90H 5002-3369
VHC-06-7 | VHC-06 70H 5002-3317 VHC-12-10A | [HIG12 100H 5002-33610
VHC-06-8 | VHC-06 80H 5002-3318 VHC-12-6 e 60H 5002-3346
VHC-08-5 VHC-08 50H 5002-3325 VHC-12-7 sz 70H 5002-3347
VHC-08-6 | VHC-08 60H 5002-3326 VHC-12-8 il 80H 5002-3348
VHC-08-7 | VHC-08 70H 5002-3327 VHC-12-9 ez 90H 5002-3349
VHC-08-8 | VHC-08 80H 5002-3328 VHC-12-10 - 100H 5002-33410
VHC-10-5 | VHC-10 50H 5002-3335 VHC-15-7 VHC-15 70H 5002-3357
VHC-10-6 | VHC-10 60H 5002-3336 VHC-15-8 VHC-15 80H 5002-3358
VHC-10-7 |  VHC-10 70H 5002-3337 VHC-15-9 VHC-15 90H 5002-3359
VHC-10-8 | VHC-10 80H 5002-3338 VHC-15-10 VHC-15 100H 5002-33510

LATHE MACHINE ACCESSORIES l



am&e

,/ ‘\'

Soft Jaw Forming Ring

> The size can be adjusted against the hellcal slot/

> Bias pin can be rotated 180 degree for different size to
extend a clamping range.

Don’t need to drill new hole. The hole on the soft jaws can
be used directly for bias pin.

The material, which is hardened and ground, can last
for a long time.

FAETURES THE CHUCK NOT INCHUDING

Forming ring is available for5” ,6",8",10"&12" power chuck.

The clamping force is increasing. the roundness and vibration caused by eccentricity can be improved. The cutting
accuracy is much better because of no taper hole(as fig.3) and less vibration.

Both Clamping(as fig.1) and extension (as fig. 2) are available. Meanwhile,the size adjusting is at will, the operation
is easy and endurable.

More improvement for used chuck to have high accuracy & strong clamping force .

& Ja BN Hard Jaws For Hydraulic Power Chucks

INSTRUCTION
Because the forming ring is used for cutting As fig.4, the soft jaw is made without H1
soft jaws by clamping and with extending. forming ring. So that the cone has created,
through-hole could increase the accuracy of moreover, the Bad accuracy, run-out,
clamping work piece. (please refer to vibration occur when clamping force is not "
fig.1.2&3) stable. il
+ LOCK PIN FORMING RING (]
* 1 LOCK PIN ¢ CONE
CBCX‘;‘E FORMING RING ‘k “ ) .
E AN\ =
1 %?%?JZ' t | Fig.1 l Fig.2 ﬂ Fig.3 Fig.4
ORDER No, SUITTOSK-CHUCK |y 1pq b2 |s1/s2 6 |H1| O |KGS CODE NO.
VFR-05 5" 121140 60 | 12|28 10| 9 |13.5] 1 5002-360
VFR-06 6" 121168| 80 |12 (32 |10| 9 |16.5| 1.5 | 5002-361
VFR-08 8" 121218|115/17 |36 10| 9 [18.5| 2.4 | 5002-362
VFR-10 10” 1212581501540 10| 9 [18.5| 3 | 5002-363
VFR-12 12" 151316|188|21 |50 10| 9 |21.5| 5 | 5002-364

1.Hard jaw for hydraulic power chucks. 2.Hard jaw for CNC lathe

e

Fig- 2

r\a} i[

H-9 \gi%alioin ﬂr M

DIMENS'ONS Unit:mm

QRDE Dim| 1 H-2|H-3 | H-4 | H-5| H-6 | H-7 | H-8 | H-9 |H-10|H-11 H-12 H-13/Sefration Matching V?;Iég‘f;vt or
. gs :
HJ05 53 | 23 [27.5) 10 | 4 |30.5| 14 |22.5/13.5/ 8.5 | 10 | M8 | 6 | 1.5x60° |Fig-2| N-205 | 0.4 |5002-401
HJ06 67531 (35| 12| 5 | 13 |20 |46 | 17 | 11 | 12 |M10| 16 | 1.5x60° |Fig-2N-206.V-206 1.0 | 5002-402
HJ08 8635|5114 5 |31 25 18 | 19| 13 | 12 |[M12| 12 | 1.5x60°  Fig-1 N-208.V-208] 1.9 |5002-403
HJ10 99.5/ 40 | 54 | 16 | 5 | 43 |30 | 17 | 19| 13 | 13 |[M12| 15 | 1.5x60° |Fig-1 N-210.V-210, 2.9 | 5002-404
HJ12 103| 50 | 52 | 21 | 4 |62.5 30 |40.5/ 25 | 17 | 17 |M16| 30 | 1.5x60° |Fig2| N-212 | 2.65 |5002-405
HJ12-1  |103|50 | 52 | 18 | 5 |62.5 30 [40.5/ 22 | 15 | 17 |M14| 30 | 1.5x60° |Fig2| V-212 | 2.7 |5002-406
HJ15 149) 62 | 86 | 22 | 8 | 63 | 43 | 34 | 32| 21 | 20 M20| 40 | 1.5x60° |Fig-1| N-215 | 9.6 |5002-407
HJ15-1  |149| 62 | 86 [25.5| 5 | 63 | 43 | 34 | 32 | 21 | 20 |M20| 40 | 1.5x60° |Fig-1| V-215 | 9.5 |5002-408

l LATHE MACHINE ACCESSORIES



More large bore:

Having the largest bore in wede type power operated chucks.

20% large bore:

Approximately 20% higher speed, higher gripping force and larger bore compared with usual chucks.
Model N-200A chucks are assembled with adaptor for ASA B5.9 type A spindles.

Model N-200A chucks are manufactured form high grabe alloy steel, All sliding surfaces are hardened
and ground for accurate actual running and long service repeatability.

SPECIFICATIONS

Unit:mm
N-205A4 | N-206A5 | N-208A5 | N-208A6 | N-210A6 | N-210A8 | N-212A8 | N-215A8 [N-215A11
233 245 252 252 @75 @75 291 2117.5 2117.5
10 12 16 16 19 19 23 23 23
54 55 7.4 7.4 8.8 8.8 10.6 10.6 10.6

1700 2200 3400 3400 4300 4300 5500 7240 7240
3600 5700 8800 8800 11000 11000 14300 18355 18355

29.6 28.5 26.5 26.5 27.5 27.5 27.5 23.5 23.5
7000 6000 4900 4900 4200 4200 3300 2500 2500
6.9 14.2 25.8 24.05 40.9 374 63.2 134 127

M1036 M1246 M1552 M1552 M1875 M1875 M2091 M2511 M2511
VHC05 | VHC06 | VHCO08 | VHC08 | VHC10 | VHC10 | VHC12 | VHC15 | VHC15
HJO5 HJO6 HJO8 HJO8 HJ10 HJ10 HJ12 HJ15 HJ15
5002-080 | 5002-081 | 5002-082 | 5002-083 | 5002-084 | 5002-085 | 5002-086 | 5002-087 | 5002-088

DIMENSIONS

Unit:mm
N-205A4 | N-206A5 | N-208A5 | N-208A6 | N-210A6 | N-210A8 | N-212A8 | N-215A8 [N-215A11
135 169 210 201 254 254 304 381 381
71 91 109 103 120 113 122 160 149
96 116 133.35 150 171.45 190 190 235 260
14 20 25 25 30 30 30 43 43
15 15 23 17 25 18 18 33 22
65.513 82.563 82.563 106.375 | 106.375 | 139.719 | 139.719 | 139.719 | 196.869
110 140 170 170 220 220 220 300 300
82.55 104.78 104.78 133.35 133.35 171.45 171.45 171.45 235
15.5 16 13 18 18 24 25 24 28
3xM10 6xM10 6xM12 6xM12 6xM16 6xM16 6xM16 6xM20 6xM20
33 45 52 52 75 75 91 117.5 117.5
4 5 5 5 5 5 6 6 6
26.5 32 38.7 38.7 51 51 61.3 82 82
23.8 29.25 35 55 46.6 46.6 56 76.7 76.7
19.75 22.75 29.75 29.75 33.75 33.75 45.75 46.75 46.75
7.75 9.25 14.75 14.75 14.25 14.25 15.75 13.75 13.75
16 26 375 31.5 33.5 26.5 26 40 29
6 14 21.5 15.5 14.5 75 3 17 6
2 2 2 2 2 2 2 5 5
10 12 14 14 16 16 21 24 24
20 19 20.5 20.5 25 25 28 43 43
23 32 37 37 42 42 52 62 62
M40x1.5 | M55x2.0 | M60x2.0 | M60x2.0 | M85x2.0 | M85x2.0 | M100x2.0 | M130x2.0 | M130x2.0
3xM6 3xM6 6xM10 3xM6 6xM12 6xM8 6xM8 6xM16 3xM10
45 60 66 66 94 94 108 139 139
Fig-1 Fig-1 Fig-2 Fig-1 Fig-2 Fig-1 Fig-1 Fig-2 Fig-1

LATHE MACHINE ACCESSORIES l



@ All sliding surfaces are hardened and ground for accurate actual running and long service repeatability.
Lubrication nipple in each base jaw.

© Base jaw:
1.5mmx60° serrtion.
@ Mounting:

Adaptor mounting to fit with DIN,ISO,BS,ASA B5.9 type A spindles.

SPECIFICATIONS

DIMENSIONS

Unit:mm
NT205 NT206 NT208 NT210 NT212 NT215
233 245 252 Q75 291 2117.5
10 12 16 19 23 23
54 55 7.4 8.8 10.6 10.6
1189 1479 2294 2906 3739 4793
2447 3875 5710 7546 9789 12236
7000 6000 4800 4200 3300 2500
5.9 13 221 33.2 61.9 115
M1036 M1246 M1552 M1875 M2091 M2511
19.5 18.9 17.3 18.4 18.4 15.3
VHCO05 VHCO06 VHCO08 VHC10 VHC12 VHC15
HJ05 HJ06 HJ08 HJ10 HJ12 HJ15
5002-250 5002-251 5002-252 5002-253 5002-254 5002-255
Unit:mm
NT205 NT206 NT208 NT210 NT212 NT215
135 169 210 254 304 381
60 81 91 100 110 133
110 140 170 220 220 300
20 19 20.5 25 28 43
82.55 104.78 133.35 171.45 171.45 235
4 5 5 5 6 6
23 32 37 42 52 62
10 12 14 16 21 24
33 45 52 75 91 117.5
3-M10 6-M10 6-M12 6-M16 6-M16 6-M20
2 2 2 2 2 5
45 60 66 94 108 139
26.5 32 38.7 51 61.3 82
23.8 29.25 85 46.6 56 76.7
19.75 22.75 29.75 33.75 45.75 46.75
7.75 9.25 14.75 14.25 15.75 13.75
1 1 14.5 8.5 8 7
-9 -1 -1.5 -10.5 -15 -16
12 20 30 45 50 60
15.5 16 20 22 23 30
M40x1.5 M55x2 M60x2 M85x2 M100x2 M130x2
14 20 25 30 30 43

. LATHE MACHINE ACCESSORIES



Direct mounting: Direct mount for VA series chucks onto short taper spindle of ASA and JIS standards.

High performance: Similar high performance to V series.
Chuck mounting screws: Metric or UNC socket head cap screws are supplied for bolting the chuck to the spindle.

Alternative spindle adaptors: ASA or DIN adaptors can be supplied to fit machine spindle.

SPECIFICATIONS Unit:mm
V-206A5 V-208A6 V-210A6 V-210A8 V-212A8 V-215A8 V-215A11
9.2 9.7 8.8 8.8 10.5 16 16
20 21 25 25 30 85) 85)
1835 2549 2957 2957 4181 8362 8362
5253 7548 10013 10013 15807 25391 25391
255 24.5 28.6 28.6 27.5 30.6 30.6
5000 4000 3500 3500 3000 2800 2800
12.5 24.4 40.65 37.15 61.75 105 103
0.045 0.317 0.3 0.3 0.725 1.8 1.8
MS105 MS125 MS125 MS125 MS150 MS150 MS200
MH100 MH125 MH125 MH125 MH150 MH150 MH200
VHCO06 VHCO08 VHC10 VHC10 VHC12-1 VHC15-1 VHC15-1
HJO6 HJO8 HJ10 HJ10 HJ12-1 HJ15-1 HJ15-1
5002-090 5002-091 5002-092 5002-093 5002-094 5002-095 5002-096
DlMENSlONS Unit:mm
V-206A5 | V-208A5 | V-208A6 | V-210A6 | V-210A8 | V-212A8 | V-215A8 | V-215A11
165 210 210 254 254 304 381 381
84 103 97 109 102 118 141 130
104.78 104.78 133.35 133.35 171.45 171.45 171.45 235
20 25 25 30 30 30 43 43
140 170 170 220 220 220 300 300
6-M10 6-M12 6-M12 6-M16 6-M16 6-M16 6-M16 6-M20
5 5 5 5 5 6 6 6
14 13 18 18 25 25 24 32
21 21 25 34 34 34 - -
15 23 17 25 18 18 58] 22
82.563 82.563 106.375 106.375 139.719 139.719 139.719 196.869
116 133.35 150 171.45 190 190 235 260
15.25 22.25 22.25 30.75 30.75 48.75 50.25 50.25
9.25 11.75 11.75 11.25 11.25 12.75 23.25 23.25
4 5 5 5 5 5 2 2
89.6 109 115 133 140 145 71 82
69.6 88 94 108 115 115 36 47
36 36 36 36 36 36 55) 55)
M16x2.0 | M20x2.5 | M20x2.5 | M20x2.5 | M20x2.5 | M20x2.5 | M30x3.5 M30x3.5
34 38 38 45 45 50 60 60
38.7 46.75 46.3 51.1 511 61 77.5 77.5
34.1 41.9 41.9 46.7 46.7 SENS) 69.5 69.5
31 35 35 40 40 50 50 50
12 14 14 16 16 18 25.5 25.5
3-M6 6-M10 3-M6 6-M12 6-M8 6-M8 6-M16 3-M10
Fig-1 Fig-2 Fig-1 Fig-2 Fig-1 Fig-1 Fig-2 Fig-1

LATHE MACHINE ACCESSORIES l




Small-sized light weight:

Comparing with the traditional product, it is small-sized (reduced to MAX 95mm)and a light weight (weighted
MAX 4.5kgs). Make its capacity more slable to reduce the burden of the machinery at high speed turning.

The most largest bore:

Comparing with the old product, it has about 20% more bore full diameter for utilizing the capacity of machinery.
The safety mechanism:

It can retain the gripping force with a check valve.

SPECIFICATIONS

M1036 105 71 68.5 15 |24.8(2529)| 24(2447) 40.8 8000 | 0.0M11 8.6 3.0 |5003-001
M1236 125 100 89 15 | 38(3875) | 33(3365) 40.8 7000 | 0.019 13.0 3.0 |5003-002
M1246 125 100 89 15 | 38(3875) | 33(3365) 40.8 7000 | 0.019 12.0 3.0 |5003-003
M1546 155 161 150 22 | 60(6118) | 56(5710) 40.8 6200 | 0.052 18 3.9 |5003-004
M1552 155 161 150 22 | 60(6118) | 56(5710) 40.8 6200 | 0.052 16.8 3.9 |5003-005
M1868 180 198 183 25 | 75(7546) | 69(7036) 40.8 4700 | 0.095 | 28.0 4.2 |5003-006
M1875 180 198 183 25 | 75(7546) | 69(7036) 40.8 4700 | 0.095 | 26.0 4.2 |5003-007
M2091 205 252 234 30 | 94(9585) | 88(8973) 40.8 3800 0.15 37.0 4.5 |5003-008
~ | M2511 250 348 336 23 |124(12644)120(12236) 40.8 2800 0.45 57 7.0 |5003-009
' DIMENSIONS

M1036 |25 M5x0.8] M10x1.5 | 126 | 88 | 68 |53 | 15| 38 | 64 |14 | 4 |[M5x0.8| 4 | PT3/8"| 6 | 136 |M44x1.5| 42 [101| 136
M1236 |30 M6x1.0] M10x1.5 | 135 | 98 | 76 |47 | 15|38 | 76 |14 | 4 |M5x0.8| 6 | PT1/2"| 6 | 169 |[M52x1.5| 50 |99 |154.5
M1246 |30 M6x1.0] M10x1.5 | 135 | 98 | 76 |47 |15/ 50 | 76 |14 | 4 |M5x0.8| 6 | PT1/2"| 6 | 169 |[M52x1.5| 50 |99 |154.5
M1546 30 M6x1.0] M10x1.5 | 145 |110| 86 |47 | 15|50 | 85 |14 | 4 |[M6x1.0| 7 | PT1/2"| 6 |187.5|M58x1.5| 56 [103| 190
M1552 |30 M6x1.0] M10x1.5 | 145 |110| 86 |47 | 15|55 | 85 |14 | 4 |[M6x1.0| 7 | PT1/2"| 6 |187.5/M58x1.5| 56 [103| 190
M1868 |35 M6x1.0] M10x1.5 |166.5/ 15510147 | 15| 70 10816 | 4 [M6x1.0| 7 | PT1/2"| 6 | 220 | M84x2 | 81 [126| 215
M1875 |35/ M6x1.0] M10x1.5 |166.5/ 15510147 | 15| 80 |108]| 16 | 4 [M6x1.0| 7 | PT1/2"| 6 | 220 | M84x2 | 81 [126| 215
M2091 |35/ M6x1.0 M12x1.75| 183 165|110 /47 | 15| 95 |120| 16| 4 |M6x1.0| 7 | PT1/2"| 6 | 267 | M99x2 | 96 |141| 240
M2511 |45 /M6x1.0| M16x2.0 | 197 |206]129|55|20[123|160| 18| 4 |[M6x1.0] 7 | PT1/2"| 6 | 294 134.6/186] 310

M1036 | 115]100| 65 | 48 |M42x1.5| 36 |32 |62|44.6 | 54 |126| 73 | 80 |104|115/179.5/ 10 | -5 | 39 |24 |2.5|5| 11 |120.5
M1236 130]100| 80 | 65 |M42x1.5| 36 |36 |67 |52.6 | 64 |[166| 85 | 90 /118|114 184 | 10 | -5 | 40 |25| 4 |5] 11 |126.5
M1246 130]100| 80 | 65 | M55x2 | 46 |36 |67 |52.6 | 64 |[166| 85 | 90 /118|114 184 | 10 | -5 |40 25| 4 |5| 11 |126.5
M1546 (170|130 85 | 70 | M55x2 | 46 |36|75|59.6 | 73 |184| 96 | 102|137 |130| 196 | 17 |-5 |47 |25| 4 |5 11 | 136
M1552 (170|130 85| 70 | M60x2 | 52 |36 |75|59.6 | 73 |184| 96 |102/137|130 196 | 17 |-5 |47 |25| 4 |5] 11 | 136
M1868 | 190|160|120| 95 | M75x2 | 68 |36 |84 |84.6 | 98 |215/121|131/166|160 230 | 20 | -5 | 50 | 25| 4 |5/17.5|153.5
M1875 [190]160|120) 95 | M85x2 | 75 |36 |84 |84.6 | 98 |215/121|131/166|160 230 | 20 | -5 | 50 | 25| 4 |5/17.5/153.5
M2091 215]180|140| 110| M100x2 | 91 |36 |93 |99.6 |108|264|138|148/182|185| 253 | 25 | -5 | 55 |25| 3 |5 21 | 168
M2511 |275|230|166|140| M130x2 |117.5| 36 | 89 |134.6/148 /362|178 2321215) 296 | 18 | -5 |38 |15] 3 |6] 27 [184.5

. LATHE MACHINE ACCESSORIES



Non Through Hole Rotary Hydraulic Cylinder (With Valves) @\

¢ Built-in safty check valves.

2P

DIMENSIONS

MS105 |105| 20 |135|100| 80 | 30 | 21 | M20x2.5 | 35 | 197 | 108 | 89 [152| 45 | 25 | 6-M10x20 | 158 | 5003-030
MS125 [125] 25 | 160|130 | 110 | 35 | 25 | M24x3.0 | 44 | 205|108 97 |160| 51 | 26 | 6-M12x24 | 166 | 5003-031
MS150 | 150 30 | 190 | 130 | 110 | 45 | 31 | M30x3.5 | 45 | 214 | 108 | 106 | 169 | 56 | 26 | 12-M12x24 | 175 | 5003-032
MS200 |200| 35 | 245 | 145|120 | 55 | 37 | M36x4.0 | 60 | 228|108 | 122|183 | 69 | 34 |12-M16x30 | 189 | 5003-033
SPECIFICATIONS
MS105 86 79 29(2957) 20 6000 4.0(40.8) 0.8 0.0125 | 7.1
MS125 122 113 42(4283) 25 6000 4.0(40.8) 0.8 0.0225 10
MS150 176 160 60(6118) 30 5500 4.0(40.8) 0.8 0.0475 | 13.5
MS200 314 290 108(11013) 35 5500 4.0(40.8) 0.8 0.0975 | 22
Collet Chucks
§ Please use llet illustration
DING343 collets collet iflustratio
- — [N
1 = |
. ¥
| A\
4 . Spring Collet Multi-Bore Collet
L pring
Holding Range
NO. [CATNO.. (O] ]l eatNo. [(O O[]
CR42 | M-673 | 42| 36|30 [173E/4728| 42 | 36| 30
CR60 | M-677 |60 |52 |42 |185E/4291| 60 | 52 | 42

DIMENSIONS

CR42A5 135 | 124 | 100 | 27 | 104.78 | 82.563 |[M66xP1.5| 60 |M55xP20| 25 [62.5| 54 |27.4 194 | M10| 28
CR42A6 170 | 124 | 100 | 32 | 133.35 | 106.375 [M66xP1.5| 66 | M60xP20 | 25 |62.5| 54 |27.4|194 | M12| 28
CR60A6 170 | 145 | 130 | 27 | 133.35 | 106.375 |[M90xP1.5| 67.5 | M60xP20 | 30 | 83 | 77 129.9]21.9 | M12|39.5

SPECIFICATIONS

CR42A5 A2-5 42 7 6.2 25(2549) 55(5608) 6,000 5003-040
CR42A6 A2-6 42 7 8.2 25(2549) 55(5608) 6,000 5003-041
CR60A6 A2-6 60 7 13 33(3365) 59(6016) 5,000 5003-042

LATHE MACHINE ACCESSORIES l



QA

oc

K/ ™ "
B G
DIMENSIONS
VNIT-208 |210| 91 |170|20.5/133.35/ 5 | 37 | 14 | 52 |4-M12| 2 | 66 |38.7| 35 |29.75|14.75|14.5| 1.5 |30 | 20 | M60x2 | 25
VNIT-210 |254|100|220| 25 171.45 5|42 | 16 | 75 |[4-M16| 2 | 94 | 51 |46.6|33.75|14.75| 8.5 |-10.5/ 45 | 22 | M85x2 | 30
VNIT-212 |304(110(220| 28 [171.45 6 | 52 | 21 | 91 |4-M16| 2 |108|61.3| 56 [45.75|15.75| 8 | -15 |50 |23 [M100x2| 30
VNIT-215 |381|133|300| 43 | 235 |6 | 62 | 24 |[117.5/4-M20| 5 |139| 82 |76.7|46.75|13.75| 7 | -16 |60 |30 [M130x2| 43

SPECIFICATIONS

VNIT-208 @52 16 7.4 2294 5716 4900 24 M1552 17.3 5003-050
VNIT-210 a75 19 8.8 2906 7546 4200 36 M1875 18.4 5003-051
VNIT-212 @91 23 10.6 3739 9789 3300 58.5 M2091 18.4 5003-052
VNIT-215 @117.5 23 10.6 6828 12236 2500 114 M2511 15.3 5003-053

6-Jaw Awl Type Chucks

SPECIFICATIONS

Front Hole Type

Scroll Chucks Series

Back Hole Type

Unit:mm

VAS-4

112

58 | 80

95

32

4.5|3-M8

45

46

4.2

1200

@2-32

5005-011

VAS-6

167

65 (130

147

60

5 |3-M10

66

43

9.2

1200

@3-60

5005-012

. LATHE MACHINE ACCESSORIES



2-Jaw Steel Body Chucks .

Steel Body Chucks Series

Steel Body Chucks:

Hard jaws and soft jaws can be adjusted just
like on a Hydraulic power Chuck to increase
the gripping range.

Hard jaws as well as Soft jaws are
interchangeable with those of CNC Lathes.
Can be used as a “Forming plate” for
machining soft Jaws.

The Chuck Handle can be operated easily
and smoothly.

Chuck Body is made by steel to enhance
safety operations for high speed machining.

PR
25 {1 se

(]

SPECIFICATIONS

Unit:mm

VTNT-07 [193| 78 |155[172/58 | 5 |3-M10|90 42|44 (11|20 12| 15.8 | 3200 @8~@235 @66~0235 | 5005-031

VTNT-09 [233|85 190210/ 70| 6 |3-M12|100 48 |47 12|25 |14 | 245 | 2800 @11~@2280 @85~@280 | 5005-032

3-Jaw Steel Body Chucks

Steel Body Chucks Series

Steel Body Chucks:

- Chuck Body is made by steel to enhance
safety operations for high speed
machining.

Hard jaws as well as Soft jaws are

dol< interchangeable with those of CNC Lathes.
s The Chuck Handle can be operated easily
g and smoothly.

Can be used as a “Forming plate” for
ey machining soft jaws.

Hard jaws and soft jaws can be adjusted
just like on a Hydraulic power Chuck to
increase the gripping range.

SPECIFICATIONS Unit:mm

AT
[N
=

3-M10|78 28|46 (11|20 12| 14.8 | 3200 @8~@235 066~0235 | 5005-040
3-M12(92 32|53 (12|25 14| 234 | 2800 @11~2280 @85~@280 | 5005-041
3-M12 104/ 37 |56 | 1230 | 16| 32 2400 @12~0330 @92~@330 | 5005-042
3-M12 (11847 |67 | 14|30 | 21| 46 2100 @15~@370 @104~@370 | 5005-043

VNT-07 |193| 78 |155/172| 58

VNT-09 |233| 85 (1901210 70
VNT-10 |273| 91 |230250| 89
VNT-12 |310|104/260/285105

N | O | o »,

ILLUSTRATE:

Can for more large capacity. The hard jaw & soft jaw is same as hydraulic power chuck

LATHE MACHINE ACCESSORIES l



Tool Post Grinder ON Lathe a3\

For Internal Grinding

Standard Accessories

1.Internal SpINAIE ......ooooiiiiiiee e, 1

3. 4, 2.Pulley for Internal Grinding ........cccceveiviiiiiineeennn. 2

2 SBFlat Belt oo 1

i S 4.Diamond tOO] ..........eeviiiiiiiiiiiiie e 1
i 5.Holder for Diamond ToOl .........cccoeiieeeeiiiiee e 1
6.key Folds (8, 5, 3, 2mm) .....cocccviiieieeeee e 4

Characteristic Features

Both the main shafts have been specially designed, and the world-wide precision bearing is used to fit the main shafts
which are made of alloy steel heat-treated for high wear resistance, precision, as well as maintaining to the lowest
temperature for durability and stability.

The motor base and the spindle bushing are adjustable.

The motor is well designed with a special and nice appearance, The R.P.M. of this motor varied depending on the size
of the workpiece.

This grinder is capable of grinding the work piece to a minimum of 3 mm in outer diameter and from 2mm up in inner
diameter (bore) with the accuracy within 0.003mm and a well finished surface. (supplied with special attachments).
The spindle bushing is made of cast iron, and supported by three surfaces. Therefore, it is durable and elastic.
Materials such as steel, iron, copper (brass), aluminum, cast iron, plastics, procelain, marble, regardless of being heat
treated or not, can be ground on this machine which functions lie a cylindrical grinder. So it may lower the cost of the
production.

We assure you of high quality products.

* Types of Grinding For Work Pieces

.
T
t

. LATHE MACHINE ACCESSORIES



Tool Post Grinder ON Lathe

A —E>
| r—ﬁ—l
w | 4 -~
A
Y. I L
'if JJ--I
© N| ,F:EI
vl
BN ¥ o Sl i (A
R oF T
PRELCH PO N I

VGR-185 | 352 | 350 | 300-340 | 80 | 180 | 138 | 85 | 190 | 330 | 45-70 | 140 | 40 | 32 | 120 80 700x500x520

VGR-175 | 315 | 300 | 260-320| 60 | 170 | 138 | 120 | 104 | 280 | 45-70 | 135 | 40 | 30 | 92 75 650x460x460
VGR-165 | 280 | 275 | 260-310| 50 | 160 | 110 | 65 | 102 | 230 | 40-65 | 105 | 40 | 30 | 85 48 520x430x350
VGR-150 | 280 | 275 | 250-300| 48 | 160 | 110 | 65 | 102 | 150 | 40-65 | 105 | 40 | 30 | 85 38 520x430x350
VGR-125 | 270 | 230 | 230-280 | 48 - | 1M0| 65 | 92 | 150 | 34-58 | 90 | 156 | 26 | 75 35 520x430x350
VGR-100 | 235 | 200 170 40 - | 1M0O| 50 | 80 | 150 | 28 45 | 10 | 25 | 64 24 450x320x340

60 cycle/50 cycle,

VGR-185 3 | 12xt'xt” - - - - - - over 12 |800-1800/5004-001
VGR-175 2 | 10"x1"x1” | 2300 | 1930 - - - - - 10-12  |700-1700/5004-002
VGR-165 1 | 8'x3/4'x3/4" | 3990 | 2390 | 2550 1l (29900116800 70 8-10 650-16005004-003
VGR-150 1 | 5'x5/8"x5/8" | #9909 | 2050 | 19-40 1t (29000116800 70 6-8 550-900 |5004-004
VGR-125 '/, | 5'x5/8"x5/8" | 2999 | 2050 | 1940 | nenxinr 239091188001 70 4-6 430-850 5004-005
VGR-100 '/s | 5'x5/8"x5/8" | #3909 | 2050 | 19-40 1ty (290001168000 50 under4 | 320-400 [5004-006

LATHE MACHINE ACCESSORIES l



